Show that the best iterative formula for computing the approximation of the root a = 0 of the
equation r%e?* = 0 is
- : n > 0.

(3 + 2z,)
Use it to find the absolute error | — z2| using zp = 0.1. Show that the given iterative formula
is converges quadratically to a root a = 0.

Tnyl1 = Tp



........................... N

L w3
'ﬁm) x gy F(ﬁ)‘Bl’«ﬁ +9\€ I

""S:'"Ccf) ~(E 95 = exs Kt L S N 4‘29 g/vq

.................................................................................. A ——
=6l +é>( 2€’ +1zze+é)?w+8a P4 Eat

.......................................................................................................................................................................................................
.......................................................................................................................................................................................................

.............................................................................................................................................................................
..........................

..........................................................................................................................................................................
............................

.................................................................................................................................................................

CamScanner = Ligd d>guaall


https://v3.camscanner.com/user/download

WL@JH# ....... g<9()::x,__ ;9( ......................................................................................................

2+
............................. 3(7:’)‘__:___,_0‘:> g [S ﬁ/ Xc’a[ pa}%%ﬁ

&

.............................. 3(;:) = 3(34-’2.29
.............................. g(xjﬁﬁ__f_‘g(?m) I

CamsScanner = Wigd &> guwaall


https://v3.camscanner.com/user/download

